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Wi M FLna R SE K L

SECTION I

LISTENING COMPREHENSION
Time—40 minutes

{n this section of the test, you will have an opportunity to demonstrate your
ability to understand spoken English. There are three parts to this section,
with special directions for each part.

Part A

Directions: For each problem in Part A, you will hear a short statement.

The statements will be spoken just one time. They will not be written out for
vou, and you must listen carefully in order to understand what the speaker says.
When you hear a statement, read the four sentences in you test book and decide
which one is closest in meaning to the statement you have heard. Then, on

your answer sheet, find the number of the problem and mark your answer.

Example 1.
You will hear: John dropped the letter in the Sample Apgwer
mailbox. (] D]
You will read: (A) John sent the letter. n B -
" (B) John opened the letter.
(C) John lost the letter.
(D) John destroyed the letter,

Sentence (A}, "John sent the letter," means most nearly the same as the
statement "John dropped the letter in the mailbox.” Therefore you shouid
choose answer (A).

Example II.
You will hear: Jameg relaxed with a gigh of Sample Angwer
relief when he heard the news. & | §5a

You will read: TATThe news was very dis-
appointing.
{B) The news made James very sad.
(C) The news was better than
expected.
(D) The news made James
extremely nervous.
Seantence (C), "The news was better than expected," is closest in meaning to
the sentence "Hames relaxed with a sigh of relief when he heard the news."
Therefore you should choose answer (C).




(A) Mr, White worked hard for his

-t

1. (A) John was afraid of it.

(B)John was sorry for that, 1amily.
(C) John was capable to do it. (B) Mr. White owns hig own house
(D) John was disobeying his after 5 years of hard work.
teacher. (C) Mr. White works in his own 5\
- house. .
2. -{A)He didn't get the prize. (D) Mr. White paid his land lord a
(B) He got the prize. lot of money.
(C) He won the prize.
(D) He didn't want the prize. 8. (A)Mrs. Sanders never phones
Susan,
3. +(A) Dr. Brown couldn't react (B) Susan never phones her monther
quickly. (C) Mrs. Sanders never writes
(B) Dr. Brown kept-his car Susan.
under control. (D) Susan never writes her mother.
(C) Dr. Brown's car went out of
control. 9, {A) Micnael buys fruits at the
(D) Dr. Brown's car was ruined. supermarket,
{B) Michael does most of his
4. (A)Iwant to sell it. shopping at the supermarket.
(B) Iliked the T.V. commercial. (C) Michael buys vegetables at the
(C} I waat to buy ooe. supermarket.
(D) I went to the paper's (D) Michael doesn't do very much
advertising office. ) shopping at the supermarket.

5. (A) Charles was right o leave 10. (A) We didn't like to see him.

, the university. (B) We were astonished to see him
(B) Charles has gone to a better (C) We were worried to see him.
' university. (D) We all felt happy to see him.
(C) Charles did very well at the
university. 11. (A)Mr. Bankson is a lawyer,
(D) Charles wasn't be returning (B) Mr. Bankson is 2 professor.
to the university. (C) Mr, Bankson is a lawyer and a
professor.
6. (A)Mary likes Geometry. (D) Mr. Bankson is a lawyer without
_ (B) Mary doesn't seem 10 be _ an office, '

interested in Geometry.
{C) Geometry isn't her most
difficult course.
(D) Mary studies Geometry.

Go on to the next page.




12.

14,

15.

16.

(A) This happened in a buildirg. 17.
(B) This happened in a forest.
(C) This happened on a city
street.
(D} This happened on a train.

(A) Mr. Smith is a hunter.
(B} Mr, Smith is a farmer. 18.
(C) Mr. Smith is a cook.
(D) Mr. Smith is a clerk in a
meat market.

(A) Jack and his sister met in -
New York yesterday. 19.
(B) Jack's sister arrived from
Europe yesterday.
(C) Jack's sister didn't go to
Europe after all.
(D) Jack didn't have enough money
to go see his sister.

(A) Peter and Bob solved the
problem together. 20.
{B) Peter was surprised that
Bob did not want to do the
problem.
(C) Peter quickly solved the
problem for Beor,
{D) Bob's speed 1n doing the
problem surprised Feter.

(A} Mr., Smith does not have tame
to do the jor.

(B} Mr, Smith does not know how
to do the job.

(C) Mr, Smith can do the Job very
quickly.

(D) Mr, Smith will be late doing
the job.

(A) John teld his friend not to stay.

{B) John decided to stay with his
friend.

(C) John wanted his friend to stay-

(D} John agreed not to stay with
his friend.

{A) Henry likes his father.

(B) Henry is not a professor.

(C) Henry's father is not a
professor.

(D) Henry is disliked by his father.

{A} Grandmother can't walk around
the garden.

(B, Grandmother is able to walk
around the garden.

(C) Grandmsther listened to Dr.,
Green,

(D) Grandmother enjoys walking-
around the garden.

(A) Sam came to New York to
visit Joe.

(B) Sam stopped in New York to
gee Joe,

(C) Sam didn't come to New York
at all.

{D) Sam came to New York but he
didn't visit Joe.

Go on to the next page.



Part B

Directions: In Part B you will hear fifteen short conversations between two
speakers. At the end of each conversation, a third voice will ask a question
about what was said. The question will be spoken just one time. After you
hear a conversation and the Question about it, read the four possible answers
and decide which one would be the best angswer to the question you have heard.
Then, on your angwer sheet, find the number of the problem and mark you
answer.

Listen to the following example:

You will hear:

. i . Sample Answer
You will read: (A) At the office. S2Mmple nswer
(B) On his way to work. A W rFE]

éC) Home in bed.
D) Away oa vacation,

From the conversation, we know that Bill is sick and will have to remain in bed
until Monday. The best angwer, then, is (C), "Home in bed." Therefore, you
should choose answer (C). .

21. (A) not to visit his class. 24. (A) 10 miles
ﬁB) The class objects her visit, (B} 10 minutes -
QJ to visit his class next (C) 15 minutes
Monday. {D) 20 minutes
(D) The student will have their
examination next Monday. 25. (A} Only 5 minutes
_ (B) 8:30
22, (A) Mr, Smith was sawing the tree.  (C) 8:00
(B) In the factory (D) 8:15
(C) It was the machine. :
(D) 1a his back yard. 26. (A) in the Chinese restaurant.
' éB) in the hotel dining room,
23. (A) colored slides. C) in the ltalian restaurant.
(B) camera (D) the aea food is very good.
{C) tiim .
(D) pictures

Go on to the next page.
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27.

28.

29.

130.

3L

(A) to tix the button.

(B) to prepare breakfast.

(C) to wait for the school bus.
(D) at 7:30.

(A) He doesn't like it.

(B) He nhas a tooth ache.

(C) He want's to save it.

(D) He has trouble opeaing his
mouth,

(A) to read books.

{B) to return books.

(C) to borrow books.
(D) to read newspapers.

(A) They went tishing.

(B) They played golf.

(C) They played bridge.

(D) They bought new fishing rods.

(A) he liked his History
Protessor.

(B) he did not like his History
Professor.

(C) he took too many subjects.

(D) he did not like Logic. -

32.

33.

34.

35.

(A) She didn't like to dance.

(B) She had a toothache,

(C) She had some homework to do.
(D) She had a see the dentist.

(A) Plato and Aristotle

{B) Karl Marx

(C) Dr. Smith's lecture

(D) History of Western Political
thought

(A) he liked to work.

(B) he worked in an insursnce
company.

(C) he needed money,

(D) he didn't like to travel.

{A) The husband seldom noticed
his wife's hair style before.

(B) The wife is overwhelmed by
her husbanod's compliment.

(C) The husband hasn't told the
truth. .

(D) The wife just came back from
the hairdresser's.

" Go on to the next page.



Therefore, you should choose answer (D).

Part C

Directiony In this part of the test, you will hear several short talks and
conversations. After each talk or conversatisn, you will be asked some -
questions. The talks and questions will be gpoken just one time. They will
not be written out for you, so you will have to ligten carefully in order to
understand and remember what the speaker says.

When you hear a question, read the four possible answers in your test book and
decide which one would be the best answer to the question you have heard.
Then, on your answer sheet, find the number of the problem and fill in (blacken}
the space t hat corresponds to the letter of the answer you have chosen.

Listen to this sample, talk:

Now listen to the first question on the sample talk:

You will hear:

You will read: (A) A popular hobby. Sample Answer
((B) The state of New Mexico. - @ LQ @

C) Ap unusual kirid of animal.
(D) New kinds of clubs to join.

The best answer to the Question "What is the topic of the talk?'" is (A), "A
popular hobby." Therefore, you should choose answer (A),

Now listen to the second question 6n the sample talk:

You will hear:

You will read: {A) A person who likes to join Sample Angwer
clubs, m [E -
(B) A person who works insa
state park.
{C) A person who finds and steals
unusual rocks.
(D) A person who likes to look for
unusual rocks.

The best answer to the question "Which of the following is the best description
of a rock hound?* is (D), "A person who likes to look for unusual rocks."
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36.

a7.

38.

39.

40.

41.

42.

43.

{A) Georgia
EB) Johnson
C) Jackson
{D) Oak

(A) Things may own property.
2B) Oak trees grow old.

C) Many people love trees.
(D) Trees sign deeds. -

(A) It was sturdy.
(B) It wag old.
(C) It was an oak.
(D) He loved it.

{(A) in California

(B) in Washiagton.

(C) in Georgia.

(D) in Jackson's ville,

(A) no tuel.

(B) ice on the wings.
(C) engine trouble.
(D) no food.

(A) near a village.
(B) near aa airport.
(C) on the water.
(D) tar from help.

(A) the rest of the night.
(B) until the next noon.
(C) one day.

(D) two days.

(A) New England.
(B) Britain.
(C) Newfoundland,
(D) Alaska.

.
3
+
3
El

44, (A) none
(B) less than two
(C) two ’ :
{D) more than two '

45, (A) aluminum ponder
gB) no sign of the wreck
C) Captain Mackey
(D) the wreck

' 46, (A) many hours.
(B) one full day.
(C) two full day.
(D) three full day.

47, (A) a doctor
(B) supplies '
(C) me chanics
{D) a murse

48. (A) He did poorly on chemistry.
(B) He got a a.on physics. |
{C) He didn't Know Mr. Brown, :

" (D) He didn't want to.

49, (A).the boy student,
(B) the teacher.
iC) the principal.
\D) the superviser.
50. {A) He is coafident that she will
get it.
{B) He doesn't know her well
enough to say.
EC) He ignored the whole thing.
D) He said he could help.

S TOP

IF YOU FINISH BEFORE TIME 1S CALLED, CHECK YOUR WORK
ON THIS SECTION ONLY.
DO NOT WORK ON ANY OTHER SECTION IN THE TEST.
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SECTION II

STRUCTURE AND WRITTEN EXPRESSION
Time — 25 minutes

‘This section is designed to measure your ability to recognize language that is
appropriate for standard written English. There are two parts to this section,
with special directions for each part. ‘

Part A

Directiong: In Part A each problem consists of an incomplete sentence. Four
words or phrases, marked (A),(B),(C),(D), are given beneath the sentence.
You are to choose the gne word or phrase that best completes the sentence.
Then, on your answer sheet, find the number of the problem and mark you

answer.
Exampile 1.
A

If John needs a pencil, he can use one ————- .
{A) of me ’ _ @ -
(B) my
(C) mine
(D) of mine

in English, the sentence should tead, "If John needs a pencil, he can use
oane of mine." Therefore you shculd choose (D). |

Example II. Sample Angwer .
Henry rememoered Mary's birthday <
oLy remem . (A) N [c] (2]

(A) her sent a gift
(B) sept her a gift
(C) to her a gift sent
(D) a gift to her sent

The sentence should read, "Henry remembered Mary's birtﬁday and sent heif
a gift." Therefore you shouid choose (B),

As soo0n a§ you understand the directions, begin work on the problems.

B NN



1.

Take an umbrella when you ga
to Seattle, for it raias «~~~~~
there.

.(A) frequently
(B) as frequent
(C) most of timas
(D) much time

The principal respoasibility of
managing the dormitory rests
with the students

{(A) itseif
(B) of itself

v (C) themsolves
(D) their selves

it | had hurried, I ~~~ca-- the
train.

(A) would cateh
(B) could catch

¥ (C) would have caught
(D) had caught’ -

My brother seidom does his
homework in the morning.

(A} So does John
(B) John is too

{C) John doesn 't too
(I‘)) Nor does Joan

My coat looks ratter shaboby, 3o
1 sught to have it ——————=~ .

(A} clean and preas

(B) cleaning and pressing
{C¥cleaned and pressed .
(D) cleaning and pressed

7.

.

"Mary keeps talking about the

party--she had a very good time,
————— she?

(A) badn’t
{B) had

(C) didn"t
(D) weren't

I would have told him the answer
had it been possaible, but I —ceeeem
80 busy then.

(A} had been
(B) were
{) was
(D) would be

it is necessary that an efficient
worker ««-=«~ his work on time,

(A) accomplishas

{B) can accomplish
(C) accomplish

{D) has accomplished

My hair style is not in vogue, but
{am used to --em== my hair loag.

(A} haviig
(B) weariag
(C) growing
D reserving

1 didn't go to the party, but 1 do
,wigh I there.

{A) was

(B) were
4C) had been

(D} went

Ga on to the next page.
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12.

13.

I like black coffee s0 much
because the stronger it is,

——— e e

(A) I like it better

(B) the more I like
(C) the better I like it
(D) I like it more

I didn't ask him to do such a
bard job. Infact, Idon’t
expect him ————-- impossibilities.
(A) aid
(B) do
(C) to do
(D) does
!
Dick killed the dog.
him why --=——-- -

(A) did he do that
(B) he did that

{C) he did

(D) he has done so

I'1]l ask

t4:

10

Tom isn't the tallest boy in the
class, but he is taller than ~———--
students,

{A) any of the
(B) some

(C) any other
(D) some of the

——————— the drought in Kansas has
become less serious.

(A) It is apparently that

(B) It appears that

(C) It must have been that
(D) There is appearance that

Go on to the next page.
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Part B

Directions: Each problem in Part B consists of a sentence in which four words
or phrases are underlined. The four underlined parts of the sentence are
marked (A),(B),(C),(D), You are to identify the one underlined word or phrase
that should be corrected or rewritten. Then, on your answer sheet, find the
number of the problem and mark you answer.

Example I.

At firgt the old woman seemed unwilling ' Sample Answer
A ‘ BN

to accept anything that was offered her by
B C

my friende and I,
D

Angwer (D), the underlined pronoun 1, would not be accepted in carefully
written English; the form me should be used after by. Therefore, the seatence
should read, "At first the old woman seemed unwilling to accept anything that
was offered her by my friends and me." To answer the problem correctly, you
would choose (D).

Example 1I.

After they had chose the books they _Sample Angwer l
A |EIE b

wished to read, the instructor told them . !
B C ;

the principal points he wanted them A |
to_nota. 7 : |

D ' . ‘ !
Answer (A}, the underlined phrage had chose, should not be used in carefully
written English. You may occasionally hear that phrase in spoken Engiish;
but it is not acceptable jn careful writing; the form chosen should be used
after had. Therefore, the sentence should read, "After they had chosen the :
books they wished to read, the instructor told them the principal points he 5
wanted them to note." To answer the problem correctly, you would choose {A).

As soon as you understand the directions, begin work on the problems. |
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